H o & & &

TG4 H 2 5 FITTK LA 6 G R AL S0E B K k) |8 L TSR 2R DOEFITHN D H
fifi E 72 1380 R EALAS — RO H B IOV TEHEAM TR < &8) IV T, JIROBMRD L0 &
BT,

Pk, BiEEOREE LTAE 2@aEl L, YEERTAITRIO L, %8 1@82kE7T 5,

S 64 7H 2H

FEE AT KRR THHX ENTIE6 3 05

R4 XHABITAHEYE

TEMGEHERE K IEE

ZyEE ERT RRRINS XA 1% 2 35

K4 BRASHBZ Y v

IKEEERT PTR B HhfE

-1 - sz T E R



N 2

it

£

THX Sy - THE - RSB - HBl H PO B B G AT & T (G E LM
G BB
= 1 1, 370, 760, 490
THRET
= 1 1, 370, 760, 490
e L
= 1 863, 038, 868
BRI T
(%%
= 1 324, 000, 000
BRI T SM570-H
(#RIA)
t 144.9 234, 000 33, 906, 600
BRI T SM570
(#RA)
t 563. 8 221, 000 124, 599, 800
BRI T SM490YB
(#RA)
t 465. 1 189, 000 87,903, 900
BRI T SM490YA
(#RA)
t 545. 2 186, 000 101, 407, 200
BRI T SM490B
(#RA)
t 3.2 191, 000 611, 200
BRI T SM400A
(#RA)
t 282 177, 000 49, 914, 000
BRI T $5400
(#RA)
t 30.5 185, 000 5, 642, 500
BRI T SUS304
(#RA)
t 0. 004 760, 000 3, 040
BRI T $5400
Q)]
t 0. 36 127, 000 45, 720
BRI T $5400
(€= SultipicZ: i)
t 0.1 121, 000 12, 100

E LRz E )R




HOOflf =%

THX 5y - TFE - FEA - /50 B PO B B G AT & G| T (G E LM

BRI T SUS304TP
(8%

t 0. 004 941, 000 3, 764
BRI $5400
(FR8M)

t 0. 36 128, 000 46, 080
K Wby b H.T.B
(S10T M22 X 180)

B3Il 1,140 424 483, 360
K Wby b H.T.B
(S10T M22X 170)

HH 570 334 190, 380
K Wby b H.T.B
(S10T M22 X 165)

HH 516 287 148, 092
K Wby b H.T.B
(S10T M22 X 160)

HH 696 282 196, 272
K Wby b H.T.B
(S10T M22X 155)

B3Il 408 277 113,016
K Wby b H.T.B
(S10T M22 X 150)

B3Il 354 271 95, 934
K Wby H.T.B
(S10T M22X 145)

B3Il 1,118 256 286, 208
K Wby H.T.B
(S10T M22 X 140)

B3Il 1, 050 251 263, 550
K Wby H.T.B
(S10T M22X 135)

HH 1,116 246 274, 536
K Wby H.T.B
(S10T M22X 130)

B3Il 300 240 72, 000
K Wby H.T.B
(S10T M22X 125)

HH 1,702 235 399, 970
K Wby H.T.B
(S10T M22X 120)

HH 840 230 193, 200

-2- [ rxmd )R




HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM

K Wby b H.T.B
(S10T M22X 115)

HH 3, 804 225 855, 900
K Wby b H.T.B
(S10T M22X110)

HH 340 220 74, 800
K Wby b H.T.B
(S10T M22X 105)

HH 4, 428 215 952, 020
K Wby b H.T.B
(S10T M22 X 100)

HH 5, 346 210 1,122, 660
K Wby b H.T.B
(S10T M22X<95)

HH 810 205 166, 050
K Wby b H.T.B
(S10T M22<90)

HH 2, 688 200 537, 600
K Wby b H.T.B
(S10T M22x85)

HH 216 195 42,120
K Wby b H.T.B
(S10T M22<80)

HH 252 189 47, 628
K Wby H.T.B
(S10T M22X75)

HH 3,528 184 649, 152
K Wby H.T.B
(S10T M22X70)

HH 3,408 179 610, 032
K Wby H.T.B
(S10T M22X65)

HH 888 174 154, 512
K Wby H.T.B
(S10TM M22 X 180)

HH 88 1,130 99, 440
K Wby H.T.B
(S10TM M22 X 170)

HH 44 1,130 49, 720
K Wby H.T.B
(S10TM M22 X 165)

. 40 1,120 44, 800

-3- [ rxmd )R




HOOflf =%

THX 5y - TFE - FEA - /50 B PO B B G AT & G| T (G E LM

K Wby b H.T.B
(S10TM M22 X 160)

HH 32 1,120 35, 840
K Wby b H.T.B
(S10TM M22 X 155)

HH 32 1,110 35, 520
K Wby b H.T.B
(S10TM M22 X 150)

HH 28 1, 100 30, 800
K Wby b H.T.B
(S10TM M22 X 145)

HH 1, 256 1, 100 1, 381, 600
K Wby b H.T.B
(S10TM M22 X 140)

HH 1,284 1, 090 1, 399, 560
K Wby b H.T.B
(S10TM M22 X 135)

HH 1, 258 1, 090 1,371, 220
K Wby b H.T.B
(S10TM M22 % 130)

HH 378 1, 080 408, 240
K Wby b H.T.B
(S10TM M22 X 125)

HH 1,902 1, 080 2,054, 160
K Wby H.T.B
(S10TM M22 % 120)

HH 1,174 1,070 1, 256, 180
K Wby H.T.B
(S10TM M22 X 115)

HH 1,796 1,070 1,921, 720
K Wby H.T.B
(S10TM M22%110)

HH 666 1,070 712, 620
K Wby H.T.B
(S10TM M22 % 105)

HH 896 1,070 958, 720
K Wby H.T.B
(S10TM M22 % 100)

HH 2,194 1, 060 2, 325, 640
K Wby H.T.B
(S10TM M22 X 95)

HH 432 1, 060 457,920

-4 - [ rxmd )R




HOOflf =%

THX 5y - TFE - FEA - /50 B PO B B G AT & G| T (G E LM

K Wby b H.T.B
(S10TM M22 X 90)

HH 898 1, 050 942, 900
K Wby b H.T.B
(S10TM M22 X 85)

HH 816 1, 040 848, 640
K Wby b H.T.B
(S10TM M22 X 80)

HH 8, 420 1, 040 8, 756, 800
K Wby b H.T.B
(S10T™M M22 X 75)

HH 31, 588 1, 030 32, 535, 640
K Wby b H.T.B
(S10TM M22 X 70)

HH 19, 328 1,030 19, 907, 840
K Wby b H.T.B
(S10TM M22 X 65)

HH 644 1, 020 656, 880
K Wby b H.T.B
(S10TM M22 X 60)

HH 900 1, 020 918, 000
K Wby b H.T.B
(F10TM M22 X 150)

HH 96 2, 280 218, 880
K Wby H.T.B
(F10TM M22 X 145)

HH 96 2, 260 216, 960
K Wby H.T.B
(F10TM M22 X 140)

HH 92 2,220 204, 240
K Wby H.T.B
(F10TM M22 X 135)

HH 28 2, 190 61, 320
K Wby H.T.B
(F10TM M22 % 130)

HH 152 2, 160 328, 320
K Wby H.T.B
(F10TM M22 X 125)

HH 92 2,130 195, 960
K Wby H.T.B
(F10TM M22 X 120)

HH 144 2, 100 302, 400

-5- [ rxmd )R




HOOflf =%

THX 5y - TFE - FEA - /50 B PO B B G AT & G| T (G E LM

K Wby b H.T.B
(F10TM M22 X 115)

HH 68 2,070 140, 760
K Wby b H.T.B
(F10TM M22 % 110)

HH 72 2, 040 146, 880
K Wby b H.T.B
(F10TM M22 X 105)

HH 184 2, 000 368, 000
K Wby b H.T.B
(F10TM M22 X 100)

HH 36 1, 980 71, 280
K Wby b H.T.B
(F10TM M22 X 95)

HH 68 1, 940 131, 920
K Wby b H.T.B
(F10TM M22 X 90)

HH 72 1, 920 138, 240
K Wby b H.T.B
(F10TM M22 X 85)

HH 204 1, 880 383, 520
K Wby b H.T.B
(F10TM M22 X 80)

HH 176 1, 860 327, 360
K Wby H.T.B
(F10TM M22 X 75)

HH 264 1, 820 480, 480
K Wby H.T.B
(F10TM M22 X 70)

HH 16, 168 1, 800 29,102, 400
K Wby H.T.B
(F10TM M22 X 65)

HH 920 1, 760 1, 619, 200
K Wby H.T.B
(F10TM M22 X 60)

HH 2,572 1, 740 4, 475, 280
NS SS400 M16 X 160 (1N)

HH 12 58 696
NS SS400 M16 X 155 (1N)

. 6 80 480

-6 - [ rxmd )R




N 2

it

£

THEX Sy« TH - FERI - HH50 ps2) & PO B B G AT G| T (G E LM

NS SS400 M16 X 145 (1N)

HH 12 77 924
NS SS400 M16 X 130 (1N)

HH 12 54 648
NS SS400 M16 X 125 (1N)

HH 12 68 816
NS SS400 M16 X 120 (1N)

HH 24 52 1,248
NS SS400 M16 X 115 (1N)

HH 6 65 390
NS SS400 M16X 110 (1IN)

HH 6 48 288
NS SS400 M16 X 105 (1N)

HH 18 60 1, 080
I ANS I SS400 M16 X 90 (1N)

HH 42 42 1,764
I ANS I SS400 M16 X80 (1N)

HH 18 39 702
NS SS400 M16 X 75 (1N)

HH 12 37 444
NS SS400 M16 X 70 (1N)

HH 24 36 864
NS SS400 M16 X 65 (1N)

HH 72 34 2, 448
NS SS400 M16 X 60 (1N)

HH 138 33 4, 554
NS SS400 M16 X 55 (1N)

HH 102 31 3,162

-7- EhAREE R ERTE




N 2

it

£

THEX Sy« TH - FERI - HH50 MoK PO B B G AT G| T (G E LM
NS SS400 M16 X 50 (1N)
B3Il 108 29 3,132
v SS400 M16 X110
ZN 4 41 164
Ty SS400 M20
& 4 13 52
Eey SWRM8 ¢ 5% 50
ZN 8 26 208
My b YA SS400 ¢ 22 X 150
VN 16, 366 428 7,004, 648
PRAR 4 $S400
& 2, 805 652 1, 828, 860
BN 477 VyaTh 680X 1 X 880
e 4 3, 650 14, 600
ENA 7yFEh $60X54 ¢ 184LH
e 4 19, 100 76, 400
ENA TyFEI A $60X22 ¢ 184LH
e 4 10, 400 41, 600
TR I RE L
= 1 465, 792
BRI T
(%%
= 1 295, 372
BRI T SM400A
(#RA)
t 0.93 174, 000 161, 820
BRI T $5400
(#RA)
t 0.05 172, 000 8, 600
[ZscE=¢
= 1 243, 560, 000

[ rxmd )R




N 2

it

£

THX Sy - THE - RSB - HBl MoK PO B B A HAm & i E (A5
PNLLENS e KX JI=5270kN
(A2FGH)
& 2 9, 320, 000 18, 640, 000
PNLLENS I KX JJ=12880kN
(P3FE D)
& 2 30, 300, 000 60, 600, 000
PNLLENS It KX JI1=10450kN
(P2 1)
& 2 39, 000, 000 78, 000, 000
PNLENS I KX JI=12060kN
(PLAERED)
& 2 30, 500, 000 61, 000, 000
PNLENS e KX S)=4320kN
(AIFGH)
& 2 10, 500, 000 21, 000, 000
okt FC250 400 X 654 X 505
& 40 108, 000 4, 320, 000
Tk T
= 1 263, 695, 830
AITALER V2D VAV e
(77 7 AMLEL)
m2 16, 080 2,090 33, 607, 200
AITALER V2D VAV e
() ) T HALER)
m2 15, 360 924 14, 192, 640
SRS Fe/NEIEE S 100 wmlh b
m2 10, 120 11, 000 111, 320, 000
SRS Fe/NEIEIE S 200wl b
m2 2,090 12, 300 25, 707, 000
LA EFLALERRA] 27 V-t
m2 10, 120 3, 660 37, 039, 200
i MRS V) v FA b EEE L 1A
300g/m2 (30 um)
m2 510 861 439, 110
i MR VD) yFA /b REEE L 1A
600g/m2 (75 ;1 m)
m2 3, 360 1,570 5, 275, 200

[ rxmd )R




N 2

£

THX Sy - THE - RSB - HBl MoK ¥ & A HAm & T (G E LM
N IR SVRHIR SR N I )
Bl 2 410g/m2 (120 1 m)
15, 360 2, 350 36, 096, 000
Ao¥ VAR A% HDZTTT7
0.1 70, 600 7, 060
Ao¥ VAR A% HDZT49
0.2 62, 100 12, 420
EPR -
1 140, 832, 434
T T
1 1,511,592, 924
THE s
1 257,907, 728
(CE35 BAEIRUI)
1 1, 769, 500, 652
ARG BB
1 838, 442, 656
T S g 1
1 39, 194, 792
ik 1.
1 39, 194, 792
LBeS
2,045.5 18, 600 38, 046, 300
B B (BRAT)
610.9 1, 880 1, 148, 492
SfmALER
1 480, 766, 604
HikE T
OVv=rZE3%)
1 7,780, 000
10 - EhAREE R ERTE




N 2

it

£

THEX Sy« TH - FERI - HH50 B PO B B G AT & i T (G E LM
HiHH 610. 9t
= 1 7, 780, 000
S ANV S
= 1 28, 400, 000
BRFR T GE Y LARRR)
= 1 418, 000, 000
KT
= 1 4, 090, 000
K™ W KR & — WS
& 10 409, 000 4, 090, 000
Bl 1T
= 1 22, 496, 604
EN Gty WA
VN 133,116 169 22, 496, 604
R B i 4E T
= 1 13, 446, 000
Bk T
= 1 13, 446, 000
Bl i B T H A
m2 1,620 3,530 5, 718, 600
R WAba=b ZEVETE 3V IR SR (1E)
130g/m2 ¥REEEFR 1[E]
m2 1,620 820 1, 328, 400
R BRI R XA IE Sk 213 Y /
f8) 500g/m2 (150 nm) ¥WEEEE 1
=]
m2 1,620 3,950 6, 399, 000
PRI
= 1 123, 368, 990
RCIRR T
= 1 123, 368, 990

- 11 -

[ rxmd )R




N 2

it

£

THEX Sy« TH - FERI - HH50 MoK PO B B G AT & T (G E LM
ERAR SD345 D16~25
t 361. 79 141, 000 51,012, 390
2 )=h 27-12-25(20) (Ei@) Bkl
m3 1,134 34, 900 39, 576, 600
Tl — AT 2400m2
= 1 24, 100, 000
Hl fZE U 7p O SRR TR 1500m2
= 1 8, 680, 000
WA EY 1L
= 1 114, 159, 030
HekZEE T
= 1 11, 192, 400
Pkt HEK B 20kg/fE LA F 110kg/ & LA
.
&0 40 9, 590 383, 600
P& VP&
(VP200A)
m 324 25, 900 8, 391, 600
P& VP&
(VP40A)
m 67 7, 600 509, 200
IRRRHEAK
&0 40 36, 400 1, 456, 000
HEARN (7 ¢ 25 SUS
m 40 11, 300 452, 000
7S - BE A L
= 1 27,121, 770
Tl — AT 1550m2
= 1 12, 500, 000
A SD345 D13
t 37.25 151, 000 5, 624, 750

- 12 -

[ rxmd )R




N 2

it

£

THEX Sy« TH - FERI - HH50 MoK PO B B G AT & # T (G E LM
ERAR SD345 D16~25
t 1.1 149, 000 163, 900
avp)-p 24-12-25(20) (% JF)
m3 241 32, 000 7,712, 000
H HiiK B HEMEE B i =10
m2 2 3,310 6, 620
L5555 B H
&0 150 7,430 1, 114, 500
HIVE B 1k % 5 1
= 1 1, 584, 000
HIPER 1L
m2 300 5, 280 1, 584, 000
5 2 I 5 At L
= 1 434, 660
B F W5 AT =5 b (U-M12X 220 4N 2W) X2 SS400 Ay
L
HH 103 4,220 434, 660
WA T
(BT
= 1 44, 280, 000
TR
m 369 120, 000 44, 280, 000
WA T
(F#EsT)
= 1 29, 484, 000
TR
(A1FGH)
m 12 283, 000 3, 396, 000
TR
(PLF D)
m 28 270, 000 7,560, 000
TR
(P2F% 1)
m 28 270, 000 7,560, 000

- 13 -

[ rxmd )R




N 2

it

THEX Sy« TH - FERI - HH50 MoK BT & G AT & # T (G E LM
TR
(P3FE D)
m 28 270, 000 7,560, 000
TR
(A2KG )
m 12 284, 000 3, 408, 000
S L
= 1 62, 200
T FEAR
e 1 62, 200 62, 200
S SRR L
= 1 46, 310, 000
FHYL L85 1T
= 1 41, 000, 000
Wb 1
= 1 2, 420, 000
W AR T
= 1 2, 890, 000
e
= 1 1,149, 120
ESh=E 1SN
(AIFGH)
= 1 574, 560
avy)=p 24-12-25(20) (FJF) —MxaeE 2/
71 = MR R e
m3 6 30, 900 185, 400
A SD345 D13
t 0. 151, 000 60, 400
ERAR SD345 D16~25
t 0. 149, 000 14, 900
Tl — AT 3Tm2
= 1 299, 000

[ rxmd )R




NN /2 {ﬂj‘ %
THEX Sy« TH - FERI - HH50 MoK PO B B G AT & # T (G E LM
L5555 B H
& T 2 7,430 14, 860
ESh=E 1SN
(A2FGH)
= 1 574, 560
avp)-p 24-12-25(20) (FJF) —MxaeE 1/
71 = MR R e
m3 6 30, 900 185, 400
A SD345 D13
t 0.4 151, 000 60, 400
ERAR SD345 D16~25
t 0.1 149, 000 14, 900
Tl — AT 3Tm2
= 1 299, 000
L5555 B H
&0 2 7,430 14, 860
[fTan
= 1 20, 048, 120
B R B T
(Fa ek - 130 1)
= 1 5, 818, 760
Fiaml 4. 0omPd |
m3 1, 000 2,670 2,670, 000
KE+D 5 RE-FRE - R
% 446 7, 060 3, 148, 760
B R B T
(Fa ek - 2390 1)
= 1 5, 818, 760
Fiaml 4. 0omPA |
m3 1, 000 2,670 2,670, 000
KE+D 5 RE-FRE - R
ges 446 7, 060 3, 148, 760
—_ 15 —

[ rxmd )R



N 2

it

£

THEX Sy« TH - FERI - HH50 H PO B B G AT & i T (G E LM
158G Ik T
(Fa ek - 130 1)
= 1 4, 560, 000
15 VR 17 2 A FRE -
m 100 45, 600 4, 560, 000
158G Ik T
(Fa ek - 2390 1)
= 1 2, 390, 000
15 VR 17 2 A FRE -
m 100 23, 900 2, 390, 000
TEHRALER T
(1341%E 1)
= 1 30, 300
TEHRALER T
(231hE 1)
= 1 30, 300
AEE T
= 1 1, 400, 000
S i 100 T
B (B
= 1 1, 400, 000
B T HE
= 1 838, 442, 656
BTl TE:
= 1 81, 174, 200
BTl TE:
= 1 25, 674, 200
TR
= 1 22, 425, 400
TG ok 4 AL ST L]
= 1 1, 180, 000
T RR A oy FRAR ST A B 3
= 1 12, 700, 000
- 16 - EhAREE R ERTE




HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
T RR A oy FRAR ST A B Lzl
= 1 4, 050, 000
T RR A oy FRAR ST A B 3
= 1 4, 480, 000
IR T 3t
= 1 15, 400
Htre m
= 1 58, 800
B M R FEART IR
= 1 58, 800
BUGERRYGEE (5 1)
= 1 3, 190, 000
HimEp R (FE L)
= 1 55, 500, 000
Wi
= 1 919, 616, 856
BTk X=giiv oy
= 1 251, 000, 000
(€:rk2Ya)
= 1 1,170, 616, 856
R 5]
= 1 2,940, 117, 508
— e
= 1 263, 162, 492
Tk
= 1 3, 203, 280, 000
THE B 2 %8
= 1 320, 328, 000

- 17 - [ rxmd )R




HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
TG
= 1 3, 523, 608, 000

- 18 - EhAREE R ERTE




